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The Kingdom of Ballabhgarh was annexed by the
British after the Indian Rebellion of 1857. Who
was its last ruler ?
(A) Ajit Singh
(C) Nabhar Singh
(E) Not attempted

(B) Gopal Singh
(D) Balram Singh

Select the combination of numbers so that letters
arranged accordingly will form a meaningful
word.

N||IR[[O]|C||T||A

(A) 162435
B) 652314
(C) 235461
(D) 462531
(E) Not attempted

You are facing the rising sun early morning. You
turn 90° clockwise, then 45° anti-clockwise.
Which direction are you facing now ?

(A) South-West
(B) East
(C) South
(D) South-East

EisE
(E) Not attempted :

G2

In a certain code, “TEACHER” is written as

“VGCEJGT”. “DULLARD” be
written in the same code ?

(A) FWNNBTE
(B) FWNNCTF
(C) FWNNCSF
(D) FWNNCRE
(E) Not attempted

How would

2.

3.

4.

1857 o IR fogle & o1e 3TN 3 Searvig TS
T ShesTT ST foAaT o | SHehT ST STeh b o 2

(A) Fsia fég (B) e féig
(C) et fee (D) s fé
(B) 3T o1 9med

ATl % HASH HT T HINT qTMh TaTAR
ST &R T Heleh Y18 71 9 |

N||IR[[O]|C||T||A

(A) 162435
(B) 652314
(C) 235461
(D) 462531 im
(E) IO & g1 =Imed E%,é.

3T YT 3T G 1 ST e ek @S & | 31
90° ZféFuTTard, f6T 45° amTed ¥od & | 37aT 319 forer
famfi Mg RF TS E 2

(A) feurafyem

(B) T

(C) gfeor

(D) SfErorge

(E) ST Tl o1 =Imed

U = %2 #, “TEACHER” %1 “VGCEJGT”
o & | forar St @ | 36 % § “DULLARD” sl
forer wpTe fora s 2

(A) FWNNBTE

(B) FWNNCTF

(C) FWNNCSF

(D) FWNNCRE

(B) I AL o1 =med

&2 &



Which Article of the Indian Constitution
facilitated the creation of Haryana as a separate
state ?

(A) Article 239

(B) Article 3

(C) Article 1

(D) Article 371

(E) Not attempted

Under the Haryana Budget 2025 — 26, how much
amount has been allocated for women’s welfare
under the Lado Lakshmi Yojana ?

(A) 5,000 crore

(B) ¥4,000 crore

(C) 3,000 crore

(D) 6,000 crore

@
(E) Not attempted o
Which among the following is not a

Constitutional Body in the state of Haryana ?
(A) Haryana Public Service Commission
(B) State Election Commission

(C) State Finance Commission

(D) Haryana Human Rights Commission
(E) Not attempted

The ‘Pinjore Gardens’ (Yadavindra Gardens) in
Haryana are an excellent example of which
architectural style ?

(A) Indo-Saracenic architecture

(B) Rajput architecture

(C) British colonial architecture

(D) Mughal garden architecture

(E) Not attempted

Which of the following Parks/Santuaries in
Haryana is a Ramsar site ?

(A) Nahar Wildlife Sanctuary

(B) Sultanpur National Park

(C) Abubshahar Wildlife Sanctuary

(D) Kalesar National Park

(E) Not attempted

5.

6.

8.

9.

WA Efae % fre sfese 7 ghEmn & T
T TS o §9 8 S H TEr=Idr 3hl 2

(A) o3 239

(B) 3TF=eT 3

(C) 3FF=eT |

(D) ¥T=% 371

(B) IO AL o1 =med

BRATOT SI5TE 2025 — 26 % q&d, TSl ALHT JISHT
TEd AfRATST o hearor & fow ferat wfyr sreifea
HMER?

(A) 5,000 FS

(B) 4,000 Fg

(C) 3,000 FS

(D) % 6,000 FS

(E) 3T el oA =med

frefafad & @ F-ar g Tsa 5 v gt
[EEARE A

(A) EIETOT Ak [T AT

(B) TST TS HATART

(C) T for STRITT

(D) TN AHETTRR ST B
(E) 3 el &A1 =med e
s A fisik mer @mEfasr mé) R
AR St 3T ICH IETET & 2

(A) $SI-BRE( ATl

(B) TSI SRt

(C) Torfemr stafaafames amegeret
(D) HTA TMTEA SRl

(E) ST Tl o1 =Imed

giamn ¥ ffafed & @ F9-a1 Sam/enEmRe
TR TA 8 ?

(A) AT ST STHIRTG

(B) FoaHgL T e

(C) STSISITEL T=ASiel WAL

(D) FATR T 3T

(E) ST el o1 =med

&3 &



10. Arun’s salary is 25% more than Bishnoi’s.|10. Wwaﬁ:[ﬁﬂzﬁéa%aﬂ?ﬁ 25% 3feren & | =X
Charan earns 40% less than Arun. Deepak earns TR T 40% HH FHHET 2 | ek, T s o 30%
30% more than Bishnoi. 37Tk AT 2 |
By how much is Deepak’s salary more than 9% T I =0T & 9 O TohaT 3T & 2
Charan’s ? (A) 53-33% (B) 62:25%
(A) 53-33% (B) 62:25% (C) 66:67% (D) 7333%
. 0 . ) .
(C) 66:67% (D) 73-33% (B) 30T 37 e E‘Jérm
(E) Not attempted =i
1. Ifx+ = =2,thenx +| | = 1. FRex+—-=2,d@x +| | = :
X X X X
(A) 2 B0 €5 (D) 6 (A) 2 (B) 0 (C) 5 (D) 6
(E) Not attempted (E) ST & <A1 =9med
12. A solid metal cube of side 14 cm is melted and [12. 14 &t bl EIr] Teh 39 RIKS & o9 s fUeree
recast into smaller spheres of radius 1 cm. How 1 9 Fr=am It B Ml ST ST @ | U foraa Mt
many such spheres can be formed ? ST ST R @ 2
(A) 535 (B)655 (C)612 (D) 724 (A) 535 (B)655 (C)612 (D) 724
(E) Not attempted (E) I TS T =R
13. If ‘a’ and ‘b’ are positive integers such that 13. aG ‘@’ 3 ‘b’ ©HHS CI;W g fow %
2 2
a —b =231, then what is the value ofa x b ? az—bz =3],daxbHAFRTR ?
(A) 246 (B)240 (C) 128 (D) 321 (A) 246 (B)240 (C) 128 (D) 321
(E) Not attempted (E) AL e ST =R
14. The average weight of 6 boys is 50 kg. A 7th boy |14. 6 TSehi T 3T I 50 THAUT™ ® | T 7aT cAShT
joins and the new average increases by 4%. Later, ot gTTfEret &7 ST @ 31 3T SEd 4% EASIGH 2
an 8th boy joins and the average increases by TS U, Teh 8T TTgehT HY SMTHe &1 Sirar © 37 sheq
1 kg. What is the weight (in kg) of the 8th boy ? 1 feretiam o ST 2 | 89 <igeh ol asi (et
(A) 62 (B)56 (C)57  (D)60 & P
[= .
(E) SO o1 9med
15. F int A th d, th le of f . et T
elr:xj:tiznp‘?omthe toon of ea i?’ti?al tovf\:/earmii 20(‘)’ 15. e %'S A, TF SR
OO | SR E30° ¥ | v g B, S fifg A A iR
From a point B, which is 50 metres closer to the 2 o
. SR ¥ 50 Hiex e fere 8, HHI 3 3 =t
base of the tower from point A, the angle of . )
elevation to the top of the tower is 60°. What is 3T 0T 60° & | FR 6T Frelg (Iﬁ?{ﬁ)w% ?
the height of the tower (in metres) ? (A) 253 m (B) 50/3 m
A 3 (B) 3
(A) 25:/3 m 504/3 m (C) 50m (D) 25m
(C) 50m (D) 25m !
(E) Not attempted (E) SR AT 3
D &4 &



16. Which of the following policies aims at|16. F=faRad & & F-€ Hifq =1 sev afeensti &
transforming rural economy through women-led ﬁ?-!c_or I SH-HRdT lirqzﬁ (SHG) & uteam ¥
self-help groups (SHGs) ? ITHYOT STfITET hT FETHT © 2
(A) PM Gati Shakti (A) dium 7 31ferT (PM Gati Shakti)

(B) e-SHRAM (B) -4 (e-SHRAM)

(C) DAY-NRLM (C) TITE-THHRTATT (DAY-NRLM)
(D) PM-KUSUM (D) HieH-FEH (PM-KUSUM)

(E) Not attempted (E) S A4S ]

17. Statement I : The Prime Meridian passes through |17. &9 [ : TeI HEATg W@ (IMARR) Mafee & gt
Greenwich. W gl
Statement II : 1t is at 0° latitude. FYT ] - TS 0° AT L |
(A) Both Statement I and Statement II are (A) FT1 IRFYT ST T2 |

correct. (B) %o [ Hel &, oo e [1TTd & |
(B) Statement I is correct, but Statement II is (C) o 1 30 e 11 2 Trerar & |
o gcc;lrresct't 1 and Statement 11 (D) 9 [ TTITd ©, ATR e 11 el & |

ot tatemen an atemen are .

© (E) ST 3Ar =med

incorrect.
(D) Statement I is incorrect, but Statement II is

correct.

[

(E) Not attempted ST

18. Which of the following phenomena best explains |18, F=faRaq & & F-€ uftaer i e it
the appearance of a blue sky ? Iuftufd = g =31 a8 W Ut & 2
(A) Wavelength-based scattering of light (A) TSI T qUTCES-SATETRE JhiviT
(B) Reflection of ocean colour (B) HETETR & U7 &1 Ydfeis
(C) Absorption of ultraviolet rays (C) TrsiTTt fopeutt shr Srargiior
(D) Curvature of the Earth (D) geat Y Fskar
(E) Not attempted E - T EE

(E) 3T o1 =med E?E%

19. India successfully hosted which major|19. WX+ 2024 ﬁ%ﬁ&[‘;@'@ 31?!'{":@'?3[ TR o it
international summit in 2024 ? PI%FIEIICIL\E‘EB ST ST 2
(A) BIMSTEC Summit (A) femaes (BIMSTEC) fimer weiie
(B) SCO Summit (B) THHAT (SCO) fImew arier
(C) SAARC Summit (C) ®mh (SAARC) e weie
(D) G20 Summit (D) 120 (G20) f¥TeR Tee
(E) Not attempted (B) I AL o1 =med

D &5&



20. A piece of paper is folded and cut as shown in the

Question Figures. From the given Answer
Figures, indicate how it will appear when opened.
Question Figures :

(Do

Answer Figures :

(A)
B
©

(D)

FIEDEDES

(E) Not attempted

20. T FITS o Zohs I T SHiadl # ey sgem

TIST 3R I AT & | & 7T I ARG ¥ 18T
o @ier W 78 S faars < |
9T ATRfAT :

Daia

IR AT :

(A) @
B @
© @
o) @

(E) 3T Tl 31 =med
21. Six faces of cube are painted red, blue, and green, |21. E % D8 HoIeh I AT, Ao, AT &L TT F 30 TE
in a manner that no two adjacent faces have the QT 2 R RIS o S AT Fcteh! ST O Uah SiET
same colour. The cube is then cut into 64 smaller T8 | T o T 64 B 941 | oh1eT 77 | Tohae =411
cubes. How many cubes have only one face T hdel Teh BeTeh ATl TT TS 2
coloured red ? (A) 24
(A) 24 (B) 8
B) 8 (C) 10
©) 10 (D) 6
. w35
(D) 6 (E) I AT AT =med %%B
my
(E) Not attempted ST
22. Complete the series : 22. Sl QU AN :
7,14,11,22,17,34,? 7,14,11,22,17,34,?
(A) 27 (A) 27
(B) 20 (B) 20
(D) 39 (D) 39
(E) Not attempted (E) SeCAES T =meet
D &6 &



23. Identify the correct pair of indigenous cattle 23. TR ﬁmﬁmﬁ%ﬁuﬁsﬁ#@%aﬁw
breeds that originated in Haryana : T Ig= hifer
(A) Sahiwal cow and Banni buffalo (A) TTEIET T 3R = 99
(B) Gir cow and Jaffarabadi buffalo (B) R 3R St S
(C) Hariana cow and Murrah buffalo (C) & T 3T Sy
(D) Tharparkar cow and Mehsana buffalo (D) SITITR T 3ﬁ; e S
(E) Not attempted (E) 0 37 <Imed
24. What percentage of Haryana’s geographical area | 24. SO o Wifcteh &1 AT foha=T Sarerd EXfard &
is covered by the Protected Area network Tk (TS ST, TSl STHIROY, HT fiTd)
(National ~ Parks,  Wildlife  Sanctuaries, T el TR T 2 92
Conserva:ion Reserves) ? (A) 0-34%
(A) 0'32% B) 11%
E(B;; (1); 5/2/ (C) 0-75%
* 0
(E) Not attempted BET
25. Under Haryana’s Parivar Pehchan Patra (PPP)|25. T it IRER Ug= U= (dididT) JUTTeAT o e,
system, which of the following statements is fefafea s g R wemadi 2 2
correct ? (A) aat g & ferfiEt s € S s
(A) Only Haryana residents get a Family ID. (ID) frerdt 2 |
(B) Fam.ilies (.)utside Haryana get a 9-digit ID (B) gfemom T e F IRERT & T SR Y HS
starting with letter “T". BN aTeft 9-37R it TS (ID) frerdt 2 |
(g) I;PP 1s mand;‘;)l’y for e;ll res@enti ) (C) wt Fafit 3 fora diefidy srframt 2 |
(D) ! Iel:lr;lporary s are for migrant workers (D) SFeRRt ST (ID) et waTet siftrt 3 forw
' gl
E) Not attempted . Elj5E
® P (E) IR e &1 =Imet i
26. The decline in the population of which bird|26. RO (3R ‘3|3 O o) forer weft setfer shY s
species in Haryana (and across India) is a ¥ firrae s l:[gaq:\uf qafeRefia el 2, foraam s
significant environmental concern, largely 0T ST Trfehcdr o feaeithieh oh1 ITANT & ?
attributed to the use of Diclofenac in veterinary A)
medicine ?
(A) Cranes (B) Bl
(B) Peacocks (©) fr=
(C) Vultures (D) =
(D) Sparrows (E) SR &I T =med
(E) Not attempted
D &7&



27. Consider the following statements : 27. Trafeafad st w foem Fifse
I.  The first nuclear power plant in North India I 39T 9Rd U 9gT G e IR DRI
is being built in the Hisar district of ISR EC RIS IR R
Haryana. II. S @R 4 g fmam e afa
II. The Haryana government has removed the u\—ﬂagsﬁa'—r L& RISEINC AN SR AT geT
age limit for the ‘Mukhyamantri Kisan ikl
Evam Khetihar Mazdoor Jeevan Suraksha 1. 8%E TSATeT Aot T e S%h10T T%uTe o
Yojana’. TSI fema T o | i
III. The 3rd edition of the Saras Aajeevika Mela gq—ei;ﬁ T FH-Y FAT T T 2
was held in Gurugram. (A) O
Which of the above statements are correct ? B) LTI s
(A) II and III only (©€) e [ ARIL
(B) I, Il and III (D) 3aet 1 30 111
(C) Iand II only (E) 3 ek 3T =mewy E%‘Eé
(D) Iand III only
(E) Not attempted
28. In 2022, Haryana ranked among | 28. 2022 , fafa G Ferewie H SiETOT YR TSt
Indian states in the Export Preparedness Index. o T YT T |
(A) 8th (A) 89
(B) 4th (B) =
(C) 2nd (C) T
(D) 5th D) o
(E) Not attempted (E) ST TR T =T
29. Which author from Haryana won the Sahitya|29. 1990 ¥ U9 =hfadr @ “s a7 =918 & fow
Akademi Award for work in Haryanvi language iEorEt vt § wifeey SteReHt T Sfid a1
in 1990 for his poetry collection titled “Bire Da RIS EIC R,
Viyah” ? (A) SR fig
(A) Jasbir Singh (B) 38 ‘HTETEH
(B) Uday Bhanu Hans ©) Hrar T i
(C) Mewa Ram Gaur D) et e AT
(D) Gopi Chand Narang EyE (E) 3o 7 a7 =me
(E) Not attempted [SE
30. What is the current number of reserved 30. TR forem avTH 3133’8;%?[ StifeRn (e & forg
constituencies for Scheduled Castes (SCs) in the Fferd Fatem-ae Y adam e frat 2 2
Haryana Vidhan Sabha ? (A) 20 B) 15
(A) 20 B) 15
©) 2 D) 17 ©) 2 D) 17
(E) Not attempted (E) Wt AT =ITEd
D &8&



31. In the following question, find out which of the |31. frferfaa gw= °, 319 Fifve for s 31T§j_5ﬁ‘l'€|\T (A),
Answer Figures (A), (B), (C) and (D) completes (B), (C) 3R (D) # ¥ *hIH-HT THIq 317 1 I
the figure matrix. HIA 2 |

K[ K[
OB OB

dp|lcrO| ? dp|lcrO| ?
Answer Figures : 'ﬁ'{amgf?rqf :
A\ | o ® | N A | @ ® | N
D (CH®) dD Q[
S U S U
C @ D) | oo C 6 D | oMo
© (CE®) ( anD © ©[ o ®) anD
S oo o o(Jo
(E) Not attempted (E) STl 31 =ned
Cha
mEA

32. Which of the following diagrams represents the |32, freferfad & & a1 3T U= vete, it 37t g
relationship among Beverages, Coffee and Soft (2fraeT) 9= o sfier Gaier guIiaT ® 2

(Cold) drinks ?
(a) €0

@A) o
(B) OOO ¥ OOO

© @
© @

D i
» 9 "9 -

E) W el &A1 =ed
(E) Not attempted ®

D &9 &



33. A number is increased by 20%, then decreased by | 33. s H&ATH 20% ﬁ?ﬁs{ﬁﬁﬁ%, T 30% T HHT
30%, and finally increased again by 50%. What I STl 8, 3R 3Fd 7 o 50% i ?{ﬁg\’ EANS G
is the net percentage change in the number from T H U g AH ¥ g gfderd afeds s
its original value ? 29 ) ;
(A) 0% (B) 26% (A) 0% (B) 26%
(©) 10% (D) 16% ) 10% (D) 16%
(E) Not attempted (E) S T2t 3 =medt
34. Selling Price of two items is 120 each. One sold |34. &l a'{?\lﬁ g o v o Tk I T 120 2ITH
at 25% profit, the other at 25% loss. What is the T 25% AT W S=T =T, 6 Bl 25% B 0T |
net profit or loss for the shopkeeper ? WW@WW%‘F&%T% ?
(A) %16 profit (B) No profit no loss (A) T 16T B) T TR
(C) T251oss (D) T 16 loss (C) T25 = (D) T 167
(E) Not attempted (E) ITC AL T IR
35. A sum of money, invested at a certain rate of|35. Teh STTTST ST HTIROT ST ohl Teh A T w
simple interest for 3 years, yields ¥ 1,200. If the 3 99T o foIg e s WE 1,200 TH BIG & | IS
same sum were invested at the same rate of 34T W&Tﬁmﬁwaﬁwa (aTfer &7
compound interest (compounded annually) for T waife) W 2 ant & fag faw fmer s ar
2 years, it would yield ¥ 840. What is the F 840 ITH A | L) SITST (FTe) 3T ST ST AT
principal sum and the rate of interest ? $9
(A) Principal : ¥ 3,800, Rate : 10-5% (A) FETEH 1 3,800, 2 : 10-5%
(B) Principal : 4,200, Rate : 9:5% (B) T : 74,200, 3 : 9-5%
© Pr%nc%pal :¥3,600, Rate : 11-11% (C) TIT 73,600, 2T : 11-11%
(D) Principal : 4,000, Rate : 10% D) H%W F4.000. 2 10%
(E) Not attempted E‘@E > N
e (E) 3T <1 =ed
36. A hemisphere and cone have equal volumes. If|36. T 3TeRTIet TR I o ST SRS & | A< 0 ht
the height of the cone is h and radius of both is r, E}_ﬂé hg i eA i Br=ar ¢ %, WArFYS T h I
find h in terms of r. Hifsg |
(A) 2r (B) 4r/3 (A) 2r (B) 41/3
©r (D) 3r2 ©) r (D) 3r/2
(E) Not attempted (E) IS ST AR E?;E
37. If a train is 180 m long and crosses a man in|37. Jfg 180 HYT vl {HTEY, Ueh ATGHT i 9 Tehg T
9 seconds, then how long does it take for it to R AT B, AT 38 280 HieT el TiehiH hl IR bl
cross a 280 m long platform ? T foraeT 99 ST 2
(A) 27 seconds (B) 23 seconds (A) 27 g (B) 23 &%
(C) 18 seconds (D) 21 seconds (C) 18 e (D) 21 e
(E) Not attempted (E) e 31 =
D &10 &



38. A factory uses three machines (A, B and C) to

produce a specialized type of widget.

Machines A and B working together can produce
100 widgets in 4 hours.

Machines B and C working together can produce
100 widgets in 5 hours.

Machines A and C working together can produce
100 widgets in 2-5 hours.

If Machine A were to work alone, how long
would it take it to produce 100 widgets ?

(A) 40/9 hours

38. U %haell U ORI YR o fosie sM o fou &

HIET (A, B 3R C) o1 ST AT = |

I A 3R B Teh |1 hIH &Lk 4 52 | 100 fasie
T HhAT S |

T B 3TR C Tk 91 19 ek 5 6 | 100 fasie
T HhAT S |

T A 3R C TH A1 W ek 25 0 H
100 forsie sHT Hhelt & |

Ife A3 A 3Tt S L, a1 3§ 100 o s &
[ETEIR RS

(B) 16/3 hours (A) 40/92
(C) 5 hours (B) 16/.3
(D) 45 hours © 5 E‘?
(E) Not attempted (D) 45 He @%_E_l
(E) ST 3Ar =med s
39. If5@1=60;12@8=200;16@2=180;then|39. AR5 @ 1=060; 12 @ 8=200; 16 @2 =180 ¥;
what is the value of 16 @ 10="7? W16 @ 10=FHITAFTE?
(A) 10 (A) 10
(B) 260 (B) 260
© 9 (C) 9
(D) 32 D) 32
mj
(E) Not attempted g (E) ST TR T =T
40. A cube has six different symbols drawn over its |40. T ¥ % D& Belohl W BT STHT-3TeH EI?ﬁ%EI%ng
six faces. The symbols are dot, circle, triangle, & | wdtsh & — foig, o, P, T, g I AR |
square, cross and arrow. Three different positions ST § o shT i STeT-37orT Rufaat euifs e
of the cube are shown in the figures. )
Which symbol is opposite the Square ? Tt % g A vdhis £ 2
(A) Cross (A) |
(B) Circle (B) ad
(C) Triangle (C) P
(D) Arrow (D) dR
(E) Not attempted (E) SR &I T =med
D &11 &



41. The “Surya Grahan Mela” (Solar Eclipse Fair) is | 41. “Eﬁ T BT’ T ITRAT 3T q%r_omﬁ CIDISER
aunique and significant event specifically held in ST fery &9 & i o fore el Teret W ‘élff T8I
which pilgrimage site in Haryana when a solar HERCIPIECAE RIS IGIE
eclipse occurs ? (A) SR, "375“6%'5[

(A) Jyotisar, Kurukshetra (B) g fereeft st Heherr, 35’6?33[
(B) Sheikh Chilli’s Tomb, Kurukshetra (©) %ﬁwgﬁ, W

(C) Bhishma Kund, Kurukshetra (D) & T, FEET

(D) Brahma Sarovar, Kurukshetra (E) STl T =med

(E) Not attempted

42. Which of the following statements is correct|42. Wﬁw%gﬁ'ﬂﬁﬁ% (SHIET=HT) & forma
regarding recent infrastructure developments in & geiy # feferfiad 8 9 Si9-a1 e g8 8 2
Haryana ? (A) TN gt qU-e o Td d¢ W e 2 |
(A) Rakhigarhi is located on the left bank of (B) B0 §erT shT SRR Stfrfem 2016 # arita

Palaeo-Channel of Drishadvati. fpeT TR T |
(B) Haryana Right to Service Act was passed in (C) TS Tommt 1529 sieme 3R AR
2016. Sreard |
(C) National Highway 152D connects Ambala -
and Narnaul. ®) ;27?&?@?{?{ %FTTW@WW
D) The Eastern Peripheral Expressway passes .
) through the city 011‘ Hisar. ’ o (E) S & < E;;E
(E) Not attempted

43. Which temple in Thanesar served as a prominent |43, =T8T H HIH-AT HfeT TSI gYaET & MEAHRA &
religious site during the reign of King SR Th BtC] TfHeh €I & ®9 | h1ed SHdl AT ?
Harshavardhana ? (A) 3T TgahTeT wfeT
(A) Amin Bhadrakali Temple (B) TAMHYE HETed HieT
(B) Sthaneshwara Mahadev Temple (C) Trvanfem =1 da Hfw
(C) Vishvamitra Ka Tila Temple (D) Wﬂﬁ?

(D) Pashupatinatha Temple im (E) I 31 =it
(E) Not attempted EI%‘&

44. Find the odd one out : 44, Towq 3@ FifsC
(A) Prism (A) frsm
(B) Mirror (B) gdur
(C) Lens (C) @\

(D) Window (D) fageht
(E) Not attempted (E) 3T &} &7 =
D &12 &



45. Find the odd one out : 45, fom FTd i
(A) 417 (B) 370 (A) 417 (B) 370
(©) 153 (D) 371 (C) 153 (D) 371
(E) Not attempted (E) 3T &1 =med @éﬁr’_li_l
i
46. A certain number, when divided by 15, 20, or 25, |46. s i @@=t 15, 20, 41 25 @ foiioid s @
always leaves a remainder of 8. What is the UM 8 Y =dT @ | Vel god BId) 6 Hi-d1 &
smallest such number that is also greater than ST 500 @ fr ISt 2 2
5007 (A) 592 B) 615
(A) 592 (B) 615 (©) 608 (D) 612
(C) 608 (D) 612 (E) 3o 7 3 e
(E) Not attempted
47. IfREAD is coded as 94 (18 x 5+ 1 x 4), how will |[47. af¢ READ @l 94 (18 x 5 + 1 x 4) % &9 § shifed
MATH be coded ? foraT STTaT ®, 9 MATH %1 8 shifsa foham smeem 2
(A) 156 (A) 156
(B) 160 (B) 160
(©) 173 (©) 173
D) 165
D) e (D) 165
(E) Not attempted o) (E) ST TR T =T
48. Four individuals — P, Q, R and S — are suspects in|48. IR=RE—P, Q,R 3T S — =Y o U A T Hfere
a theft case. They make the following 2 3 =fefaa Fa Fed 2 -
statements : PHEATR : “Q AR
P says : “Q is guilty.” QFEaTd: “RAME |
Q says : “Ris guilty.” R 3. pRElyY
R :“Pisi t.” T
says is innocen g 3. o &
S says : “I am innocent.” . .
- o I =g 91 ® foF S0 & areqa § U € Qe @ ofR
If ;[ is linogln that.lfxactly onelf)f t}zerlrll 1's gullty; Yt 2t =aRF TS ST 2 @f T S S
and only the guilty person lies (all mnocen . _oél\:{ 0
people tell the truth), then who is the guilty one ? 9. 8
A) P B) R O S D
(A) P (B) R ©) S D) Q (A) ~() © D Q
(E) Not attempted (E) ST <1 3T
D &13&



49.

50.

51.

Consider the following statements :

I. Haryana covers 2-:34% of the geographical
area of India.

II. The government has legalized the shooting
of female Nilgais.

Il. Lantana camara pose a significant threat to
the Haryana forest ecosystems.

Which of the above statements is/are correct ?

(A) I only (B) II and III only

(C) IandIII only (D) L, II and III

(E) Not attempted

Which of the following pairs of institutions and
their locations is incorrect ?

(A) Central Institute for — Hisar
Research on Buffaloes
(CIRB)

(B) National Dairy Research ~ — Karnal
Institute (NDRI)

(C) Indian Institute of — Rohtak
Management (IIM)

(D) Indian Agricultural — Panchkula
Research Institute (IARI)

E) Not attempted Bl

(E) p =

Which of the following statements about the
Mukhyamantri Bagwani Bima Yojana (MBBY)
in Haryana are correct ?

I. The scheme covers 46 horticultural crops.

II. Premium is ¥ 750/acre for
vegetables/spices.

III. Maximum compensation is ¥ 15,000/acre
for vegetables/spices.

Options :

(A) 1,1 and III

(C) I and III only
(E) Not attempted

(B) Iand II only
(D) IandIII only

49.

50.

51.

frmaferfad oAt w fomm Hifse -

I sfEmom wyRa & imfeis & &1 2:34% ST
AT |

1. BEHR 3 HIET STt sl et T sl 9
fema

11 A7 F9R7 gfemn a7 uriifufash 3= & foe
T HEw U Gt € |

ST H | B/ FoH T 2R 2

(A) Faet 111 (B) haet 11 3R 111

(C) haet [ 3R 111 (D) L 11 3R I

(E) IS 1 =med

fraferfiaa & & geamT 3 3% TIHT 1 -

THAATE ?

(A) HET E STTHEH T - fwm
GIEIEE e

(B) USRI H SEIMEIN ~ — &
(TIEISTATS)

(C) AT Tsiey Teer S
(SATSHATETH)

(D) T Y SR eI — e
(SATSTHRATE)

(E) I Tl 31 =med E?g

o § s sTTar sfar Fie (gEshse)

FIRH FEfafaa A g FeT ol § 2

. 39 IS 46 STTEHT BHAT T ST R
TR |

1. Gfssrr/aamet & fore fiftrm 2 750/t 7 |

111 wfssimaret & fau sifeeras gemmasT
% 15,000/THS 2 |

faeneu

(A) I, 11 3R I

(C) haet 11 3R 11

(E) IS &1 amed

(B) haat I 3R 11
(D) saat I 3R

& 14 &



52. The original Indian Constitution had 52. 7 IR GferemT & Iﬁﬁfm" eI I
Fundamental Rights while it presently has aaﬁ FimmHgEd tﬁ'f%ﬂ% R g |
Fundamental Rights. (A) 7; 8 (B) 8;7 (C) 6;7 (D) 7; 6
A) 7;8 B)S§7 (©6,7 (D)7T;6 (B) IO T <med
(E) Not attempted
53. A bucket is initially filled to 3/8 of its capacity |53. Teh Slcel ﬁs{g&ﬁ:«fwﬁ &ITAT oh 3/8 Tk UTHT & 9
with water. Then, 1/2 of the water currently in the STraT ® | T, sl | ﬁx‘{t{ gt hT 1/2 fEEaT SRt
bucket is poured out. After this, water equivalent e fearsmare | S‘élﬁﬁﬂ'q’, mﬁ@_ﬁ T
to 1/4 of the bucket’s total capacity is added. 1/4 3 SO I ST ST @ | 37 |, mﬁqﬁ\—{d
Finally, 1/3 of the new total volume of water in Tt Y TS ST TTAT ST 1/3 STER Tt e ST R |
the bucket is poured out. e AT S ST £ T T R Sl s A &
What fraction of the original bucket’s total ‘I;{T TR 9 o
capacity is still filled with water ? (A)08/42 ' (B) 7124
(A) 8/42 (B) 7/24
©) 716 (D) 7/48 (©) 7/16 (D) 7/48
(E) Not attempted (E) SR Rkl
54. Imagine you have three identical cube-shaped | 54. dhedHT Eﬁﬁm o stoes g = ThOHT YATehL
containers, each with an edge length of 10 cm. ai%:r{%‘, o @ g & oM Al g 10 cm R |
These three cubes are stacked one directly on top T o ST BT Uk o U Ueh @Rt Ueh ZTa ST
of the other, forming a single tower. What is the T R | 6 =T SRl ST T8 &% T 8 ?
outside surface area of this structure ? 2 2
2 2 (A) 1550 cm (B) 1500 cm
(A) 1550 cm (B) 1500 cm 2 2
2 2 (C) 1700 cm (D) 1800 cm
(C) 1700 cm (D) 1800 cm (E) < T T =T g
(E) Not attempted i
55.  Which one of the following pairs of international |55, f=ifetRad o & fauicdia T 3 37 g’@'ﬁ?ﬁ
organizations and their headquarters is T hI9-9T Teh I T 29
incorrect ? (A) ITETET (IAEA) — 3 7, Fratdigq
(A) TAEA — The Hague, Netherlands (B) THUAT (FAO) — W, g2eft
(B) FAO - Rome, Italy (C) TIH T (UN) — =27, §.17. 3T
(C) UN-New York, USA (D) T (UNESCO) — e, Hi
(D) UNESCO - Paris, France mm (E) SR e 27 =re
(E) Not attempted P
56. IfLCM (a, b) =84 and HCF (a, b) = 7, which pair |56. af¢ LCM (a, b) = 84 3 HCF (a, b) = 7 &, T
is possible as values of aand b ? Eﬁ?—ﬁ?ﬁﬁaﬁb%ﬁ%ﬁaﬁ@m%?
(A) 21 and 28 (B) 28 and 42 (A) 213728 (B) 28 3T 42
(C) 14and21 (D) 7and 12 (C) 14321 (D) 73R 12
(E) Not attempted (E) I TR
D &15&



57.

58.

59.

60.

Which of the following cities was awarded the
2024 “Green Capital of Asia” title ?

(A) Seoul

(B) Singapore

(C) Tokyo

(D) Delhi

(E) Not attempted

Which of the following statements about India’s

first bullet train project are correct ?

I. It will have 12 stations including Surat,
Vadodara and Sabarmati.

II. It includes the construction of India’s first
undersea rail tunnel.

III. Itis expected to reduce travel time between
Mumbai and Ahmedabad to under three
hours.

IV. It is being executed with financial and

technical assistance from Japan.
Options :
(A) Tand II only (B) LIIL III and IV
(C) I, I and IV only (D) I, II and III only
(E) Not attempted mgm

(o2

If a country’s Gini coefficient increases after
globalization, what does it indicate ?
(A) There is no change in income distribution
(B) Higher international trade occurred
(C) Income inequality has worsened
(D) Poverty levels have decreased uniformly
(E) Not attempted

Under which Act was the Trust Deed of PM
CARES Fund registered ?

(A) Companies Act, 2013

(B) Indian Trusts Act, 1882

(C) Societies Registration Act, 1860

(D) Registration Act, 1908

(E) Not attempted

57.

58.

59.

60.

frfafaa § @ fomm et =6t 2024 “Tf¥mn i 'f@
TSI o Raarer feam mar 2

INRCEIS)

(B) femge

(C) i

(D) feweht B
(E) IR e &1 =met i3

WA T T8t Jete o s & o H frfafaa

FYHTA FA T E 2

I 369 U, JSIE R AR Afed 12 TR
&0 |

1. 3o AR =t Teell §Y5 o I 6l i gt
fomtor smfirer 2 1

111 369 Herg 3 STEHSTEE o sffer J 1 Y
L A HS W B hl I 2 |

V. 38 S ¥ o 31 qerdieshl ggrrar & arr
ERIERAET SRR

forereu

(A) Faet [ SR (B) I I I IR IV
(C) FaA 1L, Il AR IV (D) Haet I, 11 3T 11
(E) 3T A o1 9med

af et o ae forelt et ot i Tqorien g 7,
1 g FT AT ® 2

(A) 3T ferawor § =18 uftard &t 2

(B) STaa SIS AR 2T

(C) ST JTEHTAT 3T off Feat &1 ST

(D) Tt o TR W UeHEHTE ®9 § FHHT 3T

(E) 3 el 31 =med

fiur a8 e Fi oxe e form erfufag & qea
uSieRd sl TS off 2

(A) ot srfarfrm, 2013

(B) W oxe rfarfam, 1882

(C) TraTEdt usfertor srfafaam, 1860

(D) usfieror safafa=m, 1908

(B) I AL o1 =med

& 16 &



61. As per the official Haryana Government portal, |61. &R0 THR & ARFNE d°d & I,
which of the following is not one of the five ffafaa & & #H-a1 gREmm & 9ie JTehfaE
natural geographical divisions of Haryana ? AeTeh T H 8 Uk 781 2 2
(A) Yamuna-Ghaggar Plain (A) q-ﬂq-[_wﬁgﬁ
(B) Aravalli Range (B) ST TIqHTAT
(C) Bundelkhand Plateau ) WW
(D) Shiwalik Hills (D) Rrafers werfeat
(E) Not attempted E%‘E‘é (E) SR T T

62. What does the acronym “MIME” stand for in the|62. $HeT & &y § “MIME” T &7 3L & ?
context of email ? (A) U $eE HOST TR
(A) Mail Internet Message Extension (B) HeUUH 32 U UFEesid
(B) Multipurpose Internet Mail Extensions (€) qﬁwg@ﬁgﬁam
(C) Mobile Integrated Mail Encapsulation (D) HTSSHIETTE e SR Samrdee
(D) Microsoft Internet Messaging Environment (E) ST T2t &7 =mea
(E) Not attempted

63. Which of the following statements about units of | 63. 22T GURY A EEFIE?ﬁ & 9N # fyafafaa & 9
data storage is/are correct ? HH-A1/H T & 2/ 2
I. 1 Gigabyte (GB) is smaller than 1 Terabyte . 1 77TETEe (GB), 1 2Use (TB) U BT & |

(TB). 1. 1 fehefifere (Kb), 1024 forge 3 s 7 |
II. 1 Kilobit (Kb) is equal to 1024 bits. ML 1 Tfee (Mb), | TTTeTEE (MB) %7 1 /&t T
III. 1 Megabit (Mb) is 1/8th of 1 Megabyte 2
(MB) o
Options : (A) Fae 131
(A) Iand III only (B) a I1 R 111
(B) 1II and III only (C) FaA 1
(C) Tonly (D) Faa 3R II
(D) Iand II only (E) ST TS AT e E%?
(E) Not attempted

64. The ‘Chaudhary Bansi Lal Cricket Stadium’ is|64. <ier siEf ot fohehe Tefeaw efmom & for srex
located in which city of Haryana ? Hfeae 9
(A) Faridabad (A) BT
(B) Panchkula (B) qa—%m'[

(C) Gurugram (C) TEU™

(D) Lahli (D) @Teeit

(E) Not attempted (E) ST TS T A
D & 17 &



65. Which of the following Indian cities has a|65. ffctRad ¥ & fore Y STt 0 SwreRfesieiar 3Ts
tropical wet and dry (savanna) climate ? R RN CEIRIENEIRS 27
(A) Shimla (B) Bengaluru (A) f3mem (B) é’q@'g
(C) Shillong (D) Srinagar (C) faremm (D) #R
(E) Not attempted (E) STl 1 =mgd
66. The “Chhau” dance, with martial and tribal 66. IEfR (WTRTEET) ST AfGaTE qT AT “B” T
origins, is primarily from which Indian state ? e & Ufrgydg asa g ?
(A) Manipur (A) qﬁTg'{
(B) West Bengal (B) uf¥=m st
(C) Assam (C) /H
(D) Haryana
(E) Not attempted E%E EE)) ;ﬁjgﬁwﬁ
67. Under the Digital Personal Data Protection Act, |67. fefSteet satrTa Ser |teror Tf¥fam, 2023 & d=d,
2023, which of the following activities is 18 a¥ &y SR & s3I o fefSTea saftmra <er st
prohibited when processing of digital personal TEEHT od 9T ETaRad § O -8 Tiafafer
data of children under the age of 18 years ? g9
(A) Providing educational content online (A) ferer ATt TS SUTeY U
(B) Tracking or behavioural monitoring of (B) =it b 2T A e R
children . (C) HTer-fireT <At wewfar & SAfFTd ST Tt T
©) S:;lszjtmg personal data with parental (D) Tt %1 2T R w5 i T T
(D) Storing children’s data in encrypted form () TR T AT T D)
(E) Not attempted e
68. Which of the following is not a factor used to|68. iU ENEIRS FeffeRor & ENEIRS Ea) rfTehd HH F
classify climates in the Koppen climate fore fferfiaa 9 @ a-ar s saam 78 foran
classification ? ST ?
(A) Wind (B) Moisture (A) BT (B) 3ATsdT
(C) Temperature (D) Vegetation (C) qToHH (D) A&t
(E) Not attempted (E) TR T8} &7 =medy
69. Which architectural style does the Sun Temple at | 69. I T lilc'\élt Hfex fore oo Rt A Tefdia
Modhera represent ? 29
(A) Indo-Islamic (A) SSI-FATHF
(B) Dravidian (B) sfae
(C) Maru-Gurjara () ]:['Ra_]lg.k
(D) Kalinga (D) Fio
(E) Not attempted (E) 3T T2l & =med
D & 18 &



70. What is the revised honorarium for the “Yuva 70. BTN @nfge TerreHt gRT fou ST amey ‘?E)HT@'@%
Lekhak Samman Puraskar’ given by the Haryana HHATT G &1 AT AT FIT R 2
Sahitya Akademi ? (A) 75,000
(A) T75,000 (B) £1,00,000
(B) ¥1,00,000 (C) T25,000
(C) 25,000 (D) ¥50,000
(D) ¥50,000 (B) 3T AL o1 =Imed
E) Not attempted S
(E) Not attempte E_%a
71. Which of the following statements is correct|71. TR ¥ fesiehett & sfoema & an ¥ Ffafaa
regarding the history of painting in Haryana ? Y FH-AT HAT TR 2
(A) The earliest artistic expressions in Haryana (A) FhEmT e T YT S
were discovered at the Siswal site, featuring et ReraTe ATse A TS oft, o ey o
designs painted on earthenware in black and TRz 1T 3 iyt 3 w0 P FEeTe o |
hite. . . )
wae (B) e § wsehrelt wfer & freh off v %
(B) The Bhadrakali temple in Kurukshetra lacks Refarfert (o) o1 et a7 s 2 |
any form of frescoes or murals. ©) Fi Yo Fg\ﬁ RE FT ¥ A
(C) The Rang Mahal in Pinjore is decorated with RfoT SFeTFRT ERT S9TC U FAR R &
wall paintings created by British artists e 2 |
during colonial times. D) N 7 i R & - e
(D) The ‘Asthal Bohar’ paintings are not found et 2
in Panchkula and Pinjore. (E) 3 TF 3 e
(E) Not attempted E%E
72. The town of Kaithal in Haryana is historically |72. &R&TOT T hoet It Ufcetfs &9 & foha afirg
linked with which famous female warrior ? HigeT AgT | Haiferd € 2
(A) Begum Hazrat Mahal (A) ST E5d Hed
(B) Razia Sultana (B) s e
(C) Rani Lakshmi Bai (C) T et aTg
(D) Rani Avantibai (D) T 7etaTg
(E) Not attempted (E) I AL T =TRd
D & 19 &



73.  Which of the following statements about email |73. $HT Tg8® o ok H feAfafad & & S-T1/8 Hed
addresses is/are incorrect ? TAT /R ?
I.  An email address must contain an ‘@’ I SHAUgHH ‘@ g s enT =R |
symbol. Il 30 UgH hy-HH1ea BT & (3T 6 oI,
II.  An email address is case-sensitive (e.g., John@example.com, john@example.com &
John@example.com is different from 3T %) |
john@example.com). 1. S5 % “To™ hiee § et U ITHehdT &t el
III. There can only be one recipient in the “To” 2
field of an email. e -
Options : 3
ptions A) I
A) Tonl
EB; Hon Z _— (B) ¥ I1 3R 11
an only
(C) Iand II only © L
(D) 1, Il and 111 (D) I, 11 3fRIIT
(E) Not attempted (E) I TR AT = TRd E%E
74. Which feature in Excel allows you to set rules for|74. Tl H shi4-HT gj%rm SATIRT TAT Sl 3ok AHT o
how cells are formatted based on their AR | B A & fou fem fuffa s@ i
values ? SR E 0
(A) Number Formatting (A) T BT
(B) Conditional Formatting SESNEN Eauical
(C) Format Painter (C) ®iHe T
(D) Cell Styles (D) & :[#fsé:rr
E) 3 < sé
(E) Not attempted E%E‘é )
75.  Which of the following describes a “hyperlink” ? |75, f=fciRad & & H19-A1 “BEWicin” T I T
(A) Software used to block pop-up 27
advertisements (A) U9-379 fIFToET 1 scifeh e & T ER
(B) Data stored on your computer by a website SIEERH
(C) A clickable object that takes you to another (B) TRHT SITHIEE BRI STHh et T &3 &t e
web resource (C) T foreteh S Jv ATesieRe ST 3TUehT foRet
(D) A program wused to secure online 3 Sy Tl o e I @
transactions (D) AT -3 gTF&ilﬁ T o fTT 3T
(E) Not attempted Rl ST AT T 5
(B) IO AL o1 =Imed
D & 20 &



76. Despite the thunderstorm, the old man remained | 81. Identify which part of the following sentence has
seated on the porch, staring into the distance. an error.
R?in lashe.d the ground arounq him, but he didn’t If I was you / I would not/
flinch. His eyes, cloudy with age, fixed on I 1
something far beyond the horizon — something ' U . (I
only he could see. The storm was loud, but ignore the warning /  at any cost.
whatever echoed in his mind was louder. (I1I) (Iv)
What can be inferred about the man ? (A) 1 (B) II
(A) He was afraid. ©) 1v (D) I
(B) He didn’t notice the storm. (E) Not attempted
(C) He was deep in thought.
D) He hated the rain.
EE)) Net atte te (rialn 82. Which of the follow best describes the phrase —

Ot attempte “Throw in the towel” ?

77. Rewrite the following sentence in a passive voice. (A) To win
Someone is watching us. (B) To give up
(A) We were being watched by someone. (C) To celebrate
(B) We being watched by someone. (D) To clean up
(C) We are being watched by someone. (E) Not attempted
(D) We are watched by someone.
(E) Not attempted 83. Change the following sentence into Direct

78. Which of the following is correctly spelled ? Speech :
(A) Inevatable (B) Inevitable She asked me if I was fine.
(C) Inevateble (D) Inevittable (A) She asked me, “Are you fine ?”
(E) Not attempted (B) She asked, “Am I fine ?”

79. Fill in the blank with the correct tense : (C) She said, “Are you fine ?”
By the time we arrived, the show (D) She asked, “Was I fine ?”
(A) starts (B) will start (E) Not attempted
(C) has started (D) had started
(E) Not attempted 84. What is the antonym of “Ambiguous” ?

80. In which sequence should the following (A) Vague
sentences be arranged to form a cohesive (B) Unclear
passage ? (C) Obscure
I.  His parents encouraged him to try again. (D) Definite E%‘Eé
II. He failed the mathematics test. (E) Not attempted
III. He studied hard for the next one.
IV. Eventually, he passed with good marks. 85. Which of the following describes a person who
Options : speaks many languages ?

(A) Bilingual

(A) L I IV, T )
(B) 1L, 1, 1L, TV e (B) Monoglot
(C) I, IL HL v E% (C) Translator
(D) IL, IIL, I, IV (D) Polyglot
(E) Not attempted (E) Not attempted
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86. a7 & el e 2 : 94, ‘TR I8 T Wi-H-faee B
(A)TEF  (B) ¥ (C) fagsft (D) dcam (A) I +3T (B) ¥ + &
(E) ST &I o1 =red (C) I+ (D) IH + T
87. IgHHNSIMD o foTT Iueh eI & : (E) I & &1 =Ted
(A) @1 ¥ T T (B) &% X X aTeAT .
(C) FH T (D) FF T 95, ﬁﬁ%{ﬁaﬁﬁﬁaﬁq—maﬁ%aﬂwmwwﬁa
(E) 3T A A1 =med R
88, Pt st B & e e - (A) TG I (B) IR oo
LIGIC (C) forermaiasw a (D) Hewrels ame
(A) (B) frwe T T =R
(C) TR (D) i (E) ST
(E) ST AT e 96, Frferf i & srrt vz 3
89. e TohH HidC SI3AT & AlehiToRd ol Tal Y & : (A) EST (B) fersror
(A)qu’%a;ma (C) T==rsiIerh (D) fra
(B) &7, FAfereh .
(C) uftom & rfferdar g (B) 0T 1 e
(D) & | ISFET SAefet = el 97. Foferfiam wredi & & F-a1 fome 78T 2 2
(E) ST <1 <t @d @B (O3 O
90. Tr=fctRad # & TRl Yo auE 7 (E) 3T &t <1 =
(A) 3% (B) 9Tedigsh ‘
(C) &= (D) 3 98. HI T hl A-5ehi, T TSI F-a1=< |
(E) I T =et o il A T Siehd, R e wa |
91. TrfaRad @ & T[S AR T = AT : EERLRIECRIRICSEE R
(A) gﬁﬁﬁﬁwaﬁaﬁaﬁﬁw (A) ST (B) e
(B) 3TTSTehed YECTEIR T SITSTR T € | (C) T (D) 7
(C) fiefe T 1 T YT | e () S¥ et &1 =it
(D) S <1 Hehed foham 2 %%iﬂ
(E) I & <1 =med 99, et # & ceem vrodt BT T R -
92. fHfeiiad & & weTIToT Eafat o HEt €g 1 =T (A) fgor, qoert, e, erd
?21)%@: (B) © (D) (&) g T
a9 @ RS <32 .
(E) SR &l &1 =med © ;:W febeo, e
. ; (D) 9™, queT, 73, 99 E5E
93, THfIRgd Y168 JMET1 H Tel 37 aTeT 68 I gt S < iy
y N N (E) IR T &1 = =R
(A) 9T — hSTH; FHTT — AR 100. Freforfaa fersredt & & Tgare a1 = T
(B) 3T — S, 31 — THT
(C) T _ ET, T SR (A)TeSH  (B) M (C)aWi (D) Wt
(D) FUTE — SETST; FHI — G (E) ST &1 =med
(E) 3T =T &A1 =Ted
D &22 &



